o A A &l
2% I
[} 1HETHOH -
Rt A
100 10 2H2H=8%E 1000 ( F ) EWLVWVET,
1000 2 10 2 HD26HT=%% 10000 (—A) &EL\LVET,
0 100 200 300 400 500 600 700 800 900 1000
| | | | | | | | | | |
)
0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000
| | | | | | | | | | |
100022, 100232, 10272, 124 ZHbtE=%I%. 2374 T,
( 2000 + 300 + 70 + 4 = 2374)
10 10 % 12 2H oML
—_— | M e EW e W
10[ {10} |10} |10] |10
o | g L
FOLHW | HOLBHW | FDOL B0 | —DL B
2 3 120 1.
2100 L
HOKMNE. [>) [=) 1<) THobLET, 100g]  [Loog
®>® L

314>291

(314 1% 291 L K&EW)

200>100+80 (200 /X 100+80 LV KZ\H)

100 [100] [100] [100] [100
1100/ 100] [100] [100

@=@ 100 [ro0] 100 [tod
200=120+80 (200 [ 120+80 & [F] LK &) 00| [100] [100| [100
M<® 1100/ 100] [100] [100)
314< 345 (314 1% 345 £ Y /&S 100 & 21 Z&H 2wk

200<150+80 (200 (% 150+80 LV /hx\y)

<.




o

o A A &l

2% N |
1RETOH ~
(1) Al
BEHFTEZTEL LI, OICHTIEELIRHEZEZEZTFELLS,
@
®100%5-. 10427, 148=
od | 19 g ! I DA T B <.
FHDL BV | 1D B | —D< B
D145 |, 100 % - 0% -
O=H+mH 1% |cebersket,
ONE E+ ®ED BWVA I, TD BN 4,
( ) — DL BN 2 OHIT T,
EN=PIN
( ) @10 % 57 = o =% <7,
GOtH
( ) 0840 (% 10 % ZHODIETT,
OICHTIEELIREZEZTFEL LD,
@
208 299 302 303
| | | | | |
®@
680 685 695 710
| | | | | |
(B
940 960 970 980




mofAEH A H
L |
m 1HETOH
(2) Al
HEBMFTEZTELLD, OICHTIFFERSIHZEZEZTFL LD,
@
100 1] [] |||©1000%32, 100%42, 10%8Z,
[1000) [100) m i [ 125 ZHbhE i T,
[1000] [100]
FO b | BOCBI | F0< b | o< b ||| DF46L I 1000 & =
100 % =, 10 % -,
@QtT+=mLt+ N\
( ) 1 % ZhbEHTT,
@WT+I ®F DL BV 6, HDL BV 2,
( ) FDOI BN 3, —DOL BV
@F —H =
( ) DT <9,
BT @100 % 43 Z OO EIE T,
( ) 08900 1% 10 % ZHOHIETT,
OICHTIEFERSIHZEZEZTFL LD,
@
3950 3960 | 3990 4020
| | | |
®@
| 4500 4600 | 4800 | 5100
| | | |
®
6500 7500 8000 9500




o

o A A &l

2% _E i
m 1HETOH
(3) il
DEDXELEZTICHLODOLELES, OIZHhTIFEIHEEZFLLS,
o) 61700 MI000% 5. 10%6-, 149
60002100&70% oY R ey et <1,
bHbw =TT,
(®3800 % L 800 %
6170= + +
O TiEES (>, (=) [<] % HOETLFTT,
ExFL 19,
©5700 1% 6000 LV
@ 9000 8800
INEWETT,
@ 4300 4500
2400 1% 2000 L
@ 1790 1730
KEWETT,
® 2500 2000+500
@10000 L v 3000 /s VIR
® 6100 6000+300
T,
OICHTIFFELIHEEZTFEL £,
@
0 1000 3000
‘IIIIIII‘III IIIIIIIIIIIII|II
@
6800 7000 7100
‘IIIIIIIIIIIIIIII‘IIIIIII|I
9970 9980 9990

‘*III




o

o A A &l

N

il
Spen

ﬁ%,
2

OCHTIEFELIHEESELLD,
1000 %9 =, 100% 1 =, 10% 2 =

b= Hix <7,

®100 % 100 = H oD 7-3%

<.

©8900 %

i)

2%
[} 1AETOH
(4)
DEDXELEIZHhOoHLLELELS,
@ 350213,
30005008 2%
HboB =TT,
3502= + +
OichTiTEs (>, =1, <) &
EXFEL LI,
@ 3021 2983
® 5684 5716
@ 9382 9379
G® 6212 6000+200
® 8051 8000+50+1

100 /NS WETT,

010000 1% 6000 & v

RKEWETT,

4000 X v 600 /) S WVEX

<.

OICHTIEEDIHEZESFEL LD,

2480 2490
‘ L1 L1 ‘ | L L1 I L1 L1 I |
4800 4900 5100
‘ L | L1 ‘ L1 L1 I L1 | L | |
9700 9800 9900




o

o A 5 &l

25 N |

m 1AFETOH

(5) i
2600&ELVSIHZDODVVTEZEL LS,
0 1000 2000 3000

OLOEDOHT, 2600%H6DLTOLVIT ]| ZNEEL LI,

cOICADEENEEL X D,

©2600I%,

E600xbLLERETT,

®26001%, 100%

ZHonETT,

@2600(X, 30004&Y

INEWNETT,

c26000DHHLDLLIFEZLDIZEZTHAEL L I,

®26 0 0I%. T,
®2 6 0 0I%. T,
™26 001, T,




o fAZR A H
2 £ . G
15ETOH -
(1) il
HEBMFTEZTZEL LS, OIZHTIEESIHEEZTFETL £,
0
®100%5-. 052>, 148>
0 btz O 2 8 | o
BOLHW | +DOL B | —D L B ? 1 4
145 1%, 100 % Sl0% -
4 5
@=E1+Mm 1% 5 |2hbeiscd,
(314)
ONEF+ @EDL BHWVNR 9, +DL BV 4,
<8 O O) —p< B 2o 942 [,
@ HI\
(20 8) ||@wsstzpowrsuz| 570 [t
o 110%| 84 |Zhobi-HTT
840 X 10 Z oD BT,
(700)

OICHTIEEDIHREZESFEL LS,

@
297 208 299 300 301 302 303 304
| | | | | | | |
@
680 685 690 695 700 705 710 715
| | | | | | | |
@
930 940 950 960 970 980 | 990 1000




o

o A A &l

2 §F e i
1| 1 HETOMR
(2) gl
HEeHFTEEFEL LD, OICHTIEFFESIHZESFL LD,
v
100 ©1000 %3 =, 100 %4 =, 10% 8 =,
000 | [iod 1 %5 Zhbtrsuz| 3489 ot
oo | [
oo T mncon oo oo || @561, 10002 | O |z
2 4 3 100%| 4 |z, 10%&| 6 |2,
@ET=HL A 12 | |zepersger.
(7398) | |
®TDBHWVA 6, HDL B2,
@M T+
(4015) FOL BB, D BB E
@OF ~H= o3at| 6238 | ot
1203
( ) @100 % 43 = Hoo7=8ux| 4300 |7,
®ILTF I
(9 OO0 4) 8900 1% 10 7 390 |= pow s,

OICHTIEEDIHREZESFEL LD,

@

3950 3960 3970 3980

3990 4000 4010 4020

@

4400  |4500 4600 4700

4800 4900 5000 5100

@

6500 7000 7500 8000

8500 9000 9500 | 10000




o

o fAZR A E
2% _E i
m 1RETOH
(3) il
DEOXELEIZHODLLEL LS, OICHTITFESI#EEEZTFEL LD,
@ P @1000 %5 -, 1056 =, 1%9 =
60002100&70% Hbhersux | D069 | <+,
Hbwr-5TT,
®3800 1% | 3000 | & 800 %
6170=1|6000 [+| 100 [+ |70
O TiEES (>, (=) [<] % HOETLFTT,
ExFL 19,
@5700 % 6000 L b
@ 9000| > 18800
300 | /hEvgeT,
® 4300| < 14500
12400 (% 2000 LV
@ 1790 > (1730
400 | kKEwicd,
® 2500 = 1(2000+500
10000 X v 3000 /) W EiE
6100 | < [6000+300
v 7000 | <t
OIZHTITFESDBEEEZTFEL LD,
@
ol 100 1000 | 1400 2000 3000
‘ | | | | | | | | ‘ | | | | | | | | I | | | | | | | | | | | |
@)
63000810 6900 7000 7080 | 7100
‘ | | | | | | | | I | | | | | | | | | ’ | | | | | | | | | |
9970| 9971 9980 9986 | 9990 10000

R R 2




o

o A

2 %

1

(4)

1BETOH

¥

Sen

ﬁ%,
2

DEOXELEIZHODLLEL LS,

OICHTIEFEDIHEZESFEL LD,

D 3502 @1000 %9 =, 100% 12, 10%2 2
30002500c2% | 9120 | <,
HboB =TT,

®100 % 100 Z Hod7-%#%

3502=13000 [|+| 500 [+| 2

IchTTED >, =], I<] % 10000 T

EXFEL LI,

@8900 1 | 9000 |Xxv

@ 3021| > (2983

100 /NS WETT,
® bo84 | < |[b716
10000 I 6000 X v
@ 9382 > 19379
4000 | kxwvict,
e 6212 > |6000+200
4000 X v 600 /) SV
= +50+

® 8051 8000+50+1 3400 o

OICHTIEEDIHZEZTEL LS,

2480 | 2484 2490| 2492 2500 2510
| | | | | | | | | | | | | | | | | | I | | | | | | | | | I |

4800 4830 4900 5000 5070 5100
| | | | | | | | | | | | | | | | | | | I | | | | | | | | ‘ |

9700 9760 9800 9830 9900 9940 10000




o

o A A

2 %

1

(5)

1BETOH

2600&WLVSHIZOVNTEZEL LS,

0 1000 2000 l
[ ‘ I I ‘ I I [ I |

3000

OLOEDOHT, 2600%H6DLTOLVIT ]| ZNEEL LI,

O ALEEZNEEL X D,

2000

©2600I%,

E600xbLLERETT,

®26001%, 100%

26

@2600(X, 30004&Y

400

ZHonETT,

INEWNETT,

c26000DHHLDLLIFEZLDIZEZTHAEL L I,

®260010%| 1L

2000 £V 600 K=

TY,

®2600I%,

nw 1000 2 2 2, 100 2 6 Z HHHE7-

TY,

@26 00I% i

10 7 260 Z &H2 D7z

BT,




